Heating Curve Calculation Notes
No KCQ required

YouTube Link to Presentation:
https://youtu.be/AjGaZUKRIDU



https://youtu.be/AjGaZUKRlDU
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Practice Problems

* Glue the questions in your notebook

* Show your work the way | do!

* Annotate the practice problems with comments,
tips, warnings, explanations, etc! These are NOTES
not just practice problems!



Practice Problems

What is the energy needed to melt 326 grams of ice and heat
it to 100°C?

Determine the energy required to convert 21.1 grams of ice at
-6°C to steam at 100°C

What is the heat transfer involved when you convert 51 grams
of water 0°C to ice at -20.3°C?

What is the energy absorbed when you melt 75 grams of ice
at -5°C to water at 90°C?



1. Whatis the energy needed to melt 326 grams of ice and heat it

to 100°C?
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4. Determine the energy required to convert 21.1 grams of ice at

-8°C to steam at 100°C
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3. What is the heat transfer involved when you convert 51 grams
of water 0°C o ice at -20.3°C?
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4. Whatis the energy absorbed when you meh 75 grams of ice at
-5°C to waler at 80°C?
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